OZET/ABSTRACT

Intersepsiyon bitkinin toprak Usti kisimlari tarafindan tutulan ve yere ulasmadan tekrar atmosfere dénen yagisa verilen
addir. Hidrolojik déngude birgok agidan gok énemli bir yere sahiptir. Bu galismada ayni yetisme ortami kosullari altinda,
yedi farkli orman agacinin intersepsiyon kayiplari belirlenmistir. Calisma Zonguldak Eregli'de Kasim 2018 ile Haziran
2019 tarihleri arasinda gergeklestirilmistir. Tum turler igin orman alti yagis ve gévdeden akis 6lglilmus ve bitki altina
disen toplam net yadis belirlenmistir. Agik alana disen toplam yadis miktari ile net yadis arasindaki fark tizerinden
intersepsiyon kaybi ortaya konmustur. Calisma stiresince orman alti yadis olusturan toplam 16 yagmur olayi
gerceklesmis ve acik alanda 816,60 mm yagmur kaydedilmistir. Trlere bagl olarak orman alti yagis degerleri 48,86 ile
61,37 mm; govdeden akis dederleri ise 0,37 ile 2,34 mm arasinda belirlenmistir. Toplam intersepsiyon miktari %37,68
ile mesede en duslk; %49,18 ile servide en ylksek olmustur.

Interception is the name given to precipitation that is held by the above-ground parts of the plant and returns to the
atmosphere before it reaches the ground. Interception is very important in many aspects of hydrologic cycle. In this
study, under the same habitat conditions, the interception losses occurring in seven different forest trees were
determined. The study was carried out between November 2018 and June 2019 in Zonguldak Eregli. For all species,
throughfall and streamflow were measured and total net rainfall per plant was determined. The difference between the
total amount of precipitation falling in the open area and the net precipitation has been revealed by the loss of
interception. During the study, a total of 16 rain events occurred under the vegetation with net rainfall and 816,60 mm
rainfall was recorded in the open area. Throughfall values of the species are between 48.86 and 61.37 mm; streamflow
values were determined between 0.37 and 2.34 mm. Total amount of interception was lowest for oak tree with
37.68%; it was highest for cypress tree with 49.18%.



